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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes cach
sentence. Then mark the correct choice on your answer sheet.

PART B: Grammar
| Directions: Read the following passage and decide which choice (1), (2), (3), or (4)

T e e e r o e e e m s mm— 5

Dogs and wolves are members of the same —=——-aue-- .

1) species 2) monsters 3) creatures 4) primates
I've been prescribed iron tables to make up the

1) fault 2) nutrition 3) deficiency 4) protection
After years of research, scholars have finally — this theory to a scholar in ancient
Greece.

1) pondered 2) ascribed 3) depicted 4) disclosed
They ———— — @ 500-year lifespan for a plastic container.

1) alleged 2) survived 3) diverged 4) postulated
Teachers settled for a 4% pay rise with ————- effect from last April.

1) foregone 2) preceding 3) retrospective 4) substantial
Although she is only 20 years old, she has shown great to stress.

1) potency 2) maturity 3) attribute 4) resilience
The school governors have absolute ------e--- over which students they admit.

1) discretion 2) attendance 3) pragmatism 4) aggression
Short questions are more likely to a response.

1) elicit 2) undergo 3) perceive 4) register
Many principles are ———------- in the Declaration of Human Rights.

1) resided 2) embodied 3) proceeded 4) submitted
Scientists used to reason that the Sun went round the Earth, not .

1} in turn ' 2} vice versa 3) on the other hand  4) by contrast

best fits each blank. Then mark the correct choice on your answer sheet.

e e e e —— —

I

China has been influenced mainly by three systems of religion and morals: Confucianism,
Taocism, and Buddhism, (11) ==----- started in China but Buddhism (12) -------—- from India in the
1* or 2™ century AD. Confucianism was usually regarded as the official religion of China until the
revolution of 1911: The founder of Confucianism was Confucius, who was bom in the 6" century
BC and lived in (13) -- . He taught that human happiness comes from the relationships
between people; (14) —===—- , the way in which people treat one another. The worship of ancestors-
an old Chinese custom — was warmly recommended by him because (15) --------- the old ways
unchanged. God wasto be honoured, but people could not know much about him and should not try
to find out about supernatural things.

11- 1) Two first 2} First two 3) The two first 4) The first two

12- 1) carned there 2) was carried there 3) carried until there  4) was carried until there
13- 1) trouble times 2) troubling time 3) troubled times 4) troublesome time

14- 1) that is 2) in case 3) in addition 4) which includes

15- 1) it helped keeping 2) his helping for keeing of

3) it helped to keep 4) he helped keeping
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Part C Readmg Cnmprehensmn

Directions:Read the following three passages and choose the best choice (1) (2), (3) or (4): Then
marﬁ: it on Your answer sheet,

Industrial Engineers GS-7 are under general supervision of an engineer of higher grade when
engaged in day-to-day repetitive type assignments, which are usually covered by specific and
detailed procedures. On receipt of assignments of this type, GS-7 industrial engineers are expected
to proceed independently with the investigation and analysis of “the problem involved, apply
established methods and procedures appropriate for a satisfactory solution, secure approval for any
deviations there from, and present findings, designs, and conelusions in.comparatively completed
form. Whenever they encounter procedural or technical difficulties in the accomplishment of an
assignment, they discuss them with the supervisor or engineers of hi gher grade to secure advice or a
different viewpoint from which to approach the problem. Completed projects are reviewed by the
supervisor, who may require further investigation of the problem, question the accuracy and
adequacy of engineering data and conclusions presented, indicate changes in proposed designs or
specifications prepared, or suggest exploration of an altemative course of action.

When assisting higher-grade engineers by accomplishing subordinate segments of engineering
projects for which the latter are responsible, industrial engineers GS-7 are ordinarily under closer
supervisory control. In these instances they are givén assignments which are typically screened to
remove unusual or difficult problems and usually receive specific instructions as to lines of
approach and work sequences to follow. Problem matters arising, such as choice between
alternative methods, are referred to the supervisor and discussed with him to get further explanation
and advice or approval to proceed. Any need to deviate from established procedures requires the
supervisor's prior approval. Work operations involving new processes, procedures, or lines of

approach are reviewed during various stages of ‘accomplishment to assure proper application of
methods and technigues.

16- Which aspect of GS-7 industrial engineers® work does the passage discuss?
1) nature of supervisory control exercised over the work
2) scope of recommendations, decisions, and conclusions
3) nature of available guidelines for performance of work
4} purpose and nature of person-to-person work relationships
17- GS-7 industrial engincers are closely supervised when --------
1) doing work assignments independently
2) adapting technigues. to the salution of assigned problems
3) assisting in projects which are the responsibility of high-grade engineers
4) performing work phases which exceed the limitations of established policies
18- On receipt of completed projects, the supervisor may do all of the following EXCEPT --------
1) suggest solutions to problems assigned
2) review the work in'detail for technical accuracy
3) make decisions on questionable points or deviations
4) require adopting a different approach to the problem
19- The word “which® in line 14 refers to -------- .
1) higher-grade engincers 2) industrial engineers
3) segmients 4) projects
20- It can be inferred from the passage that/GS-7 industrial enginecrs ss------,
1) are typically eanfronted with complex problems
2) perform duties which include decision making
3) wotk on speeific and somewhat limited work assignments
4) have responsibility for difficult industrial engineering projects
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PASSAGE 2:

Many problems in financial engineering require numerical evaluation of an integral. Several
virtues make simulation popular among practitioners as a methodology for these computations.

First, it is easy to apply to many problems. For most derivative securities and financial models,
even those that are complicated or high-dimensional, it takes relatively little ‘work to create a
simulations algorithm for pricing the.derivative under the model. Alsogpitfalls in numerical
implementation of simulation algorithms are relatively rare. For the most pan, adittle knowledge
and effort go a long way in financial simulalions; with some expertise and investment of one’s time,
one can go further and faster.

The second virtue of simulation is its good performance on high-dimensional problems: the rate
of convergence of a Monte Carlo estimate does not depend on the dimension of the problem. While
other numerical integration techniques may have advantage over simulation.in various situations,
their rates of convergence tend to degrade as the dimension increases, The dimension of the
problem is high, for instance, when dealing with models of markets that contain many fundamental
sources of risk or with derivative securities that depend in a nontrivial way on prices at many times.
This issue is becoming increasingly important as securities markets and financial risk management
become more sophisticated.

A third attraction of simulation is the confidence interval that it provides for the Monte Carlo
estimate. This information makes possible an assessment of theguality of the estimate, and of how

much more computational effort might be needed in order to produce an estimate of acceptable
quality.

21- The passage mainly discusses - "

22-

23-

25-

1} the range of effective application of simulation

2} the challenges specific to financial simulations

3) the advantages of financial simulation methodology

4) the use of simulation to handle financial engineering problems

Which of the following statements is NOT true aceording to the passage?

1) Financial risk management can benefit from the implementation of simulation algorithms.
2) Financial simulations require extensive knowledge and expertise.

3) Simulation is well suited to high-dimensional problems.

4) Simulation is a valuable tool for pricing options.

The word “pitfalls” in line 5 is closest in meaning t0 —--—-—-.

1) conflicts 2) procedures 3) features 4) difficulties
Which of the following is NOT discussed as an advantage of simulation in the passage?
1) The domain of problems to which simulation can be applied

2) The use of simulation'to handle high-dimentional problems

3) The provision of the confidence interval for Monte Carlo methods

4) The applicationof simulation to a variety of financial problems

The passage states that simulation makes it possible for the Monte Carlo estimate --——-.
1) to assess its quality and increase its acceptability

2) to assess the risk of more computational effort

3} to improve its performance when dealing with derivative securities

4) to compute the values of derivatives over a period of time

PASSAGE 3:

The biggest challenge when implementing cellular manufacturing in a company is dividing the
entire manufacturing system into cells. The issues may be conceptually divided in the “hard™ issues
of equipment, such as material flow and layout, and the “soft” issues of management, such as
upskilling and corporate culture.

The hard issues are amatter of designand investment, Theentirefactory floor is rearranged, and
equipment is modified or replaced to enable cell manufacturing. Thecosts of work stoppages during
implementation can be considerable, and lean manufacturing literature recommend  that
implementation should be phased to minimize the impacts of such disruptions as much as possible,
The rearrangement of equipment or the replacement of equipment that is not flexible or reliable
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enough for cell manufacturing also pose considerable costs, although it may be justified as the
upgrading obsolete equipment. In both cases, the costs have to be justified by the cost savings that
can be realistically expected from the more [ :xible cell manufacturing system being introduced,
and miscalculations can be disastrous.

The soft issues are more difficult to caleulate and control. The implementation. of cell
manufactuning often involves employee training.and the redefinition and reassignment of jobs. Each
of the workers in cach cell should ideally be able to complete the entire range of tasksrequired from
that cell, and often this means being more multi-skilled than they were previously. In addition, cells
are expected to be self-managing, and therefore workers will have to learn the tools and strategies
for effective team work and management, tasks that workers in conventional factery environments
are entirely unused to. At the other end of the spectrum, the management will also find their jobs

redefined, as they must take a more “hands-off” approach to allow 'work cells to effectively self-
manage.

26- The best title for this passage could be --———--,
1) Cellular manufacturing system designs
2) Costs of implementing cellular manufacturing
3) Challenges to the implementation of cell manufacturing
4) Integrating cellular manufacturing and management
27- In order to reduce the costs of work stoppages, -———--
1} workers are expected to be self-managing
2) more flexible cell manufacturing systems are introduced
3) part movement and wait time between operations are reduced
4) implementation should be completed in stages over a period of time
28- According to the third paragraph, -——---- .
1) workers should be able o accomplish tasks réquired from any work cell
2) the soft issues pose a considerable challenge for cell manufacturing implementation
3) each individual work cell is optimized for a wide range of tasks
4) the costs of employee training are less than those of work stoppages
29- By a more “hands-off” approach the author means that --—---
I ) managers will have to learn the strategies for teamwork
2) managers must learn to perform a more eversight and support role
3) the management should carry out detailed observation on the behavior of the workers
4) the management should monitor the outputs and interrelationships of every single worker
30- The implementation of cell manufacturing involves all of the following EXCEPT ——-- -
1} upskilling 2y overproduction
3} redefinition of jobs 4) reorganizing the manufacturing floor
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